Mobius Math Club Name:

m bi U S 1 Which answer is the same expression as this
Math worksheet on 'Algebraic Functions - Simplify to 24 2 —I— 28;[} —|— 54 2 —|— 63

Bracketed Terms, Different Variables, with
Coefficient (Level 1)'. Part of a broader unit on

'Polynomials and Quadratics - Practice’ a (z—6)(4z +7) b (92 + 6)(7z + 28)

Learn online: £ (6Z + 6)(7$ B 7) d (6Z + 7)(4w + 9)
app.mobius.academy/math/units/polynomials _and quadratics practice/ e (42 + 24)(6.1‘ + 28) f (4Z + 24)(61‘ + 7)
Which answer is the same expression as this Which answer is the same expression as this

4bz + 28z + 7b + 49 14rm + 14m + 63r + 63
a  (4b+4)(7z+28) b -7+ 7) a (2r+14)(tm+14) b (2r 1 12)(Tm+7)
(4b+ 4)(7z +7) d  (b+7)(72+28) C  (r-7)(2m+7) d (7r+7)2m+9)
e (Tb+7)(72-7) f o b+rnEz+7) e (or+7(m+14) F (mrrn(Im-7)
Which answer is the same expression as this 2 Which answer is the same expression as this

18zm + 48m + 15z + 40 bpy + 20y + 6p + 24

a  (6z+18)(3m +8) b (62 +18)(3m + 48) a  (p-7)(5y+4) b (5p+5)(7y+20)
C (5z+3)(8m-+48) d  (z-3)(6m+8) C  (5p+5)(Ty+4) d (p+4)(5y+6)
€ (3z+8)(6m+5) f (3z + 3)(8m —8) € (Tp+7)(4y—4) f (p + 7)(4y + 20)

Which answer is the same expression as this 7 Which answer is the same expression as this
24nc + 27¢ + 48n + 54 2bx + 12x + 7b + 42
a  (8n+9)(3c+6) b (3n+24)(8c+27) a  (5b+5)(6z—6) b (b+5)(6z+12)

(8n +8)(9¢—9) d  (3n+24)(8c+09) C  (b-5)(2z+6) d (2b+2)(52 + 12)

€  (6n+8)(9c+27) f o (n-8)(3c+9) €  (b+6)2z+7) f o (2+2)(52+6)
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